SL.No.: 2121000048



**INSTITUTION CODE: 888** 

### **GRADE CARD**

# FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME : ABHIJIT RANJIT

ROLL NO.: 2028883010048 REGN.NO.: 2088830120043 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit	Credit Points (Ci) x (G
CORE COURSE: CHEM101	Theory	50	39			2 ° 8	2 24	80.0	4 90
ORGANIC CHEMISTRY-I	Internal	12	09	62	48	A+	7.74	2.48	19.2
CORE COURSE: CHEM102	Theory	50	43	8		18	2		S &
ORGANIC CHEMISTRY-II	Internal	12	07	62	50	A+	8.07	2.48	20.0
CORE COURSE: CHEM103	Theory	50	41	80	52	A+	8.25	2.52	7 80
IORGANIC CHEMISTRY	Internal	13	11	63					20.8
CORE COURSE: CHEM104	Theory	50	34	7 6	1 8	1	8	F 50	54
PHYSICAL CHEMISTRY	Internal	13	10	63	44	A	6.98	2.52	17.6
CORE COURSE: CHEM105  ORGANIC CHEMISTRY PRACTICAL PAPER-I	Theory	150	109	150	109	A+	7.27	6.00	43.6

区域器域域区
200
語列出版語
CONTRACTOR !

Grand Total Full Marks : 400	Total Credit	Total Credit Point		
303 3 3	S 50 16 50 5	121.2	SGPA	7.58

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result : 28TH MAY, 2021

SL.No.: 2121000050



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME : ABHRADEEP SARKAR

ROLL NO.: 2028883010050 REGN.NO.: 2088830120044 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101	Theory	50	41		F 60	2 3	5 S	\$ .0	4 30
ORGANIC CHEMISTRY-I	Internal	12	08	62	49	A+	7.90	2.48	19.6
CORE COURSE: CHEM102	Theory	50	37	800	3	182	80 5		S &
ORGANIC CHEMISTRY-II	Internal	12	08	62	45	A+	7.26	2.48	18.0
CORE COURSE: CHEM103	Theory	50	35	40	5 5	37 5	7,7	\$0°	7 50
INORGANIC CHEMISTRY	Internal	13	09	63	44	A	6.98	2.52	17.6
CORE COURSE: CHEM104	Theory	50	33	7 6	3 8	7 8 S	5	7 20°	5 × 5
PHYSICAL CHEMISTRY	Internal	13	09	63	42	A	6.67	2.52	16.8
CORE COURSE: CHEM105	Theory	150	112		3/3			35	2 43
ORGANIC CHEMISTRY PRACTICAL PAPER-I	Internal			150	112	A+	7.47	6.00	44.8
Control Control Control				2 8	200				
Grand Total Full Marks : 400	Total C	redit	Total (	Credit Poin	60 P.	CCDA	\$ 5 5 7	30	
292	5 5 16		400	116.8	38 80	SGPA		30	

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000044



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

### FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: ANMOL SHARMA

ROLL NO.: 2028883010044 REGN.NO.: 2088830120045 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit	Credit Points (Ci) x (Gi
50	38			5 F	2 74	800	7 30
12	09	62	47	A+	7.58	2.48	18.8
50	34	80	3	18	3	3, 50	S &
12	09	62	43	A	6.94	2.48	17.2
50	37	30	S	3 . V	0 24	40°C	7 80
13	10	63	47	A+	7.46	2.52	18.8
50	30	7 6	40	1	6.35	2.52	J & 3
13	10	63		A			16.0
150	103	18	37/80			P 8	
91301		150	103	A	6.87	6.00	41.2
							\$ 3 S
Credit	Total	Credit Poin	80 P.		\$ 25°		
tal	tal Credit	tal Credit Total	tal Credit Total Credit Poir	2 2 2 2 2 2		1 8 1 8 1 8 1 8 1 8 1 8 1 8 1 8 1 8 1 8	

100		X .		30
88				120
5	7			C/D
		10	24.	中
3		70	2.0	
Œ	25			
00			1	30

Grand Total Full Marks : 400	Total Credit	Total Credit Point	
280	16	112.0	SGPA

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000051



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: BIKRAM SHIT

ROLL NO.: 2028883010051 REGN.NO.: 2088830120046 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Coo	le & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101		Theory	50	37		X 30	2 4		200	4 30
ORGANIC CHEMISTRY-I		Internal	12	09	62	46	A+	7.42	2.48	18.4
CORE COURSE: CHEM102	S & 5 5 6	Theory	50	37	80	\$ 5	1 8	5		5 5
ORGANIC CHEMISTRY-II		Internal	12	07	62	44	A+	7.10	2.48	17.6
CORE COURSE: CHEM103		Theory	50	38	80	5 5	30 5	5 74	\$ <sup>0</sup>	J 20
INORGANIC CHEMISTRY		Internal	13	10	63	48	A+	7.62	2.52	19.2
CORE COURSE: CHEM104	3 8 3 5	Theory	50	33	7 6	38 5	3 8		7 g	58 6
PHYSICAL CHEMISTRY	YSICAL CHEMISTRY		13	09	63	42	S A	6.67	2.52	16.8
CORE COURSE: CHEM105		Theory	150	99			5 <sup>3</sup> S		8	
ORGANIC CHEMISTRY PR	ACTICAL PAPER-I	Internal			150	99	A	6.60	6.00	39.6
					3 8					
	Grand Total Full Marks : 400	Total Cı	redit	Total (	Credit Poin	60 P.	CCDA	3 3 6	.98	
	279	16			111.6		SGPA		30	
区 1960年		Course(s)/Paper(	s) not cl	eared ma	rked as	'E'	30	5 g	7,54	30 /2

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000045



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: BINITA BARMAN

ROLL NO.: 2028883010045 REGN.NO.: 2088830120047 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code & Title	eri si se	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101	3 S	Theory	50	36		80	2 4	2 2	80.0	4 30
ORGANIC CHEMISTRY-I		Internal	12	08	62	44	A+	7.10	2.48	17.6
CORE COURSE: CHEM102		Theory	50	27	800	\$ 0	1 62			5 8
ORGANIC CHEMISTRY-II		Internal	12	07	62	34	В	5.48	2.48	13.6
CORE COURSE: CHEM103		Theory	50	39	30	5 5	5 5		800	7 80
INORGANIC CHEMISTRY		Internal	13	09	63	48	A+	7.62	2.52	19.2
CORE COURSE: CHEM104	5 5	Theory	50	35	7 0	38	7 S	9	7 g	58 s
YSICAL CHEMISTRY	Internal	13	09	63	44	A	6.98	2.52	17.6	
CORE COURSE: CHEM105  ORGANIC CHEMISTRY PRACTICAL	L PAPER-I	Theory	150	94	150	94	A	6.27	6.00	37.6
E STREET OF ST		Internal			3 8	7 0°				
<b>公司 (1777年) 2017年 2017年 2017年 2017年</b>	Grand Total ull Marks : 400	Total C	redit	Total C	Credit Poin	8 .N	CCDA	\$ 3 S	60	
	264	16			105.6		SGPA 6.60			
N SAN THE WORLD		Course(s)/Paper	(s) not cl	eared ma	rked as	'E'	30	5 gs		37,5

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000055



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: BIPRAVA BARDAR

ROLL NO.: 2028883010055 REGN.NO.: 2088830120048 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper C	ode & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101  ORGANIC CHEMISTRY-I	A SE SE SE	Theory	50	41	62	50	A+	8.07	2.48	20.0
ORGANIC CHEMISTRY-I		Internal	12	09	02	30	A	0.07	2.40	20.0
CORE COURSE: CHEM102		Theory	50	35	8	340	18	3		5 5
ORGANIC CHEMISTRY-II		Internal	12	09	62	44	A+	7.10	2.48	17.6
CORE COURSE: CHEM103	S 3 5 5 5	Theory	50	39	\$0	5 5	37 5	7 3 T	\$0°	2 20
INORGANIC CHEMISTRY		Internal	13	10	63	49	A+	7.78	2.52	19.6
CORE COURSE: CHEM104	S S R S S	Theory	50	37	7 6	38 5	3 8	93	7 g	5 × 3
PHYSICAL CHEMISTRY	YSICAL CHEMISTRY	Internal	13	10	63	47	A+	7.46	2.52	18.8
CORE COURSE: CHEM105		Theory	150	107		3/4	35		R. S	3 8
ORGANIC CHEMISTRY P	RACTICAL PAPER-I	Internal			150	107	A+	7.13	6.00	42.8
					5 8	23	* 37 48 3			
	Grand Total Full Marks : 400	Total C	redit	Total (	Credit Poin	8 .N	CODA	8 8 3 Y	43	
	297	5 16			118.8		SGPA		43	
<b>这种理</b>		Course(s)/Paper	(s) not cl	eared ma	rked as	'E'	30	5 gs		30 /

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000053



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: DEBALINA DAKUA

ROLL NO.: 2028883010053 REGN.NO.: 2088830120049 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (G
CORE COURSE: CHEM101	Theory	50	36		F 30	2 4 E		400	4 30
ORGANIC CHEMISTRY-I	Internal	12	09	62	45	A+	7.26	2.48	18.0
CORE COURSE: CHEM102	Theory	50	37	8 0	\$ 0	1 8	5		S &
ORGANIC CHEMISTRY-II	Internal	12	09	62	46	A+	7.42	2.48	18.4
CORE COURSE: CHEM103	Theory	50	35	30	\$ 5	37 5		\$0°	7 20
INORGANIC CHEMISTRY	Internal	13	09	63	44	A	6.98	2.52	17.6
CORE COURSE: CHEM104	Theory	50	35	7 00	38 8	1 4		7 go	J 3 3
PHYSICAL CHEMISTRY	Internal	13	10	63	45	A+	7.14	2.52	18.0
CORE COURSE: CHEM105	Theory	150	105		37/4			180	3 6
ORGANIC CHEMISTRY PRACTICAL PAPER-I	Internal		1517	150	105	A+	7.00	6.00	42.0
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	80 P.		4 4 6 7 7 7 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	40	
285	3 3 16			114.0	J. 60	SGPA		.12	

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000047



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: JAYEETA ROY

ROLL NO.: 2028883010047 REGN.NO.: 2088830120050 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

	Theory Internal Theory Internal Theory Internal	50 12 50 12 50	41 09 35 09	62	50	A+	8.07	2.48	20.0
	Theory Internal Theory	50	35			40°		2.48	20.0
	Internal Theory	12	4	62	44	A+	8		3
	Theory		09	62	44	A+			
4		50					7.10	2.48	17.6
0 0	Intomol		38	\$0°	5 5	3 S		300	7 30
	internal	13	10	63	48	A+	7.62	2.52	19.2
5 8	Theory	50	29		ر ای کا کا		200	7 30 S	ر فر <sup>ا</sup> د
3 6 C	Internal	13	10	63	39	S A	6.19	2.52	15.6
PER-I	Theory	150	102	150	102	S A	6.80	6.00	40.8
otal :: 400	Total C	redit	27.75		2 D	SGPA	\$ \$ \$ 7.	.08	
)	tal	Theory Internal	Theory 150 Internal  tal : 400  Total Credit	Theory 150 102 Internal  tal : 400  Total Credit Total C	Theory 150 102 150 Internal 150 Total Credit Poin	Theory 150 102 150 102 150 102 150 102 150 102 150 102	Theory 150 102 150 102 A  tal : 400 Total Credit Total Credit Point  SGPA	Theory 150 102 150 102 A 6.80  Internal Total Credit Point SGPA 7.	Theory 150 102 150 102 A 6.80 6.00 Internal Total Credit Point SGPA 7.08

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000052



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: MANISHA BANERJEE

ROLL NO.: 2028883010052 REGN.NO.: 2088830120051 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Theory Internal	50	38						
Internal		30	62		A+	7.74	2.48	19.2
	12	10		48				
Theory	50	41	62	37,5	7 63	8	2.48	20.0
Internal	12	09		50	A+	8.07		
Theory	50	40	63	5 5	37 5		2.52	7 80
Internal	13	10		50	A+	7.94		20.0
Theory	50	34	63	\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\ \		6.98 7.40	2.52	J 2 3
Internal	13	10		44	A			17.6
Theory Internal	150	111	150	111	A+		6.00	44.4
3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	redit	25		60 P.	SGPA	7.	58	
	Internal Theory Internal Theory Internal Theory Internal	Internal 12 Theory 50 Internal 13 Theory 50 Internal 13 Theory 150 Internal 150 Internal	Internal   12   09     Theory   50   40     Internal   13   10     Theory   50   34     Internal   13   10     Theory   150   111     Internal   Total Credit   Total C	Internal   12   09   62     Theory   50   40   63     Internal   13   10   63     Theory   50   34   63     Internal   13   10   111     Theory   150   111   150     Internal   Total Credit Poin	Internal   12   09   62   50     Theory   50   40   63   50     Internal   13   10   63   44     Theory   50   34   63   44     Internal   13   10   111     Theory   150   111   150   111     Internal   Total Credit Point	Internal   12   09   62   50   A+	Internal   12   09   62   50   A+   8.07     Theory   50   40   63   50   A+   7.94     Internal   13   10   63   44   A   6.98     Internal   150   111   150   111   A+   7.40     Total Credit   Total Credit Point   SGPA   7.	Theory   50   40   63   50   A+   7.94   2.52     Theory   50   34   63   44   A   6.98   2.52     Theory   150   111   150   111   A+   7.40   6.00     Total Credit   Total Credit Point   SGPA   7.58

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000054



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: MASUMA KHATUN

ROLL NO.: 2028883010054 REGN.NO.: 2088830120052 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101  DRGANIC CHEMISTRY-I		Theory	50	42		52	A+	8.39	2.48	20.8
		Internal	12	10	62					
CORE COURSE: CHEM102  ORGANIC CHEMISTRY-II		Theory	50	38	62	47	A+	7.58	2.48	18.8
		Internal	12	09						
CORE COURSE: CHEM103  NORGANIC CHEMISTRY		Theory	50	40	63	51	A+	8.10	2.52	20.4
		Internal	13	11						
CORE COURSE: CHEM104			50	36	63	46	A+	7.30	2.52	58 S
PHYSICAL CHEMISTRY		Internal	13	10						18.4
CORE COURSE: CHEM105  ORGANIC CHEMISTRY PRACTICAL PAPER-I		Theory Internal	150	109	150	109	A+	7.27	6.00	43.6
	N 2 2 2	S HE BEEF			5 8	200	<b>7</b> 37 3	18 A S		\$1 <sup>2</sup> 5 <sup>3</sup>
	Grand Total Full Marks : 400	Total Credit Total Credit Point		80 P.	CCDA	5 5 7				
<b>经</b> 有限的主义	305	16			122.0		SGPA 7.63			
	<u> </u>	Course(s)/Paper(	(s) not cl	eared ma	rked as	'E'		5 E	774	9 J

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000046



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: SHYANTANI RAY

ROLL NO.: 2028883010046 REGN.NO.: 2088830120053 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Cod	e & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi	
CORE COURSE: CHEM101  ORGANIC CHEMISTRY-I		Theory	50	40	62	49	A+	7.90	2.48	19.6	
		Internal	12	09							
CORE COURSE: CHEM102  ORGANIC CHEMISTRY-II		Theory	50	35	62	44	A+	7.10	2.48	17.6	
		Internal	12	09							
CORE COURSE: CHEM103 INORGANIC CHEMISTRY		Theory	50	35	63	45	A+	7.14	2.52	18.0	
		Internal	13	10							
CORE COURSE: CHEM104 PHYSICAL CHEMISTRY		Theory	50	27	63	36	B+	5.71	2.52	58 S	
		Internal	13	09						14.4	
CORE COURSE: CHEM105		Theory	150	98	150	98	A	6.53	6.00	39.2	
ORGANIC CHEMISTRY PRA	ORGANIC CHEMISTRY PRACTICAL PAPER-I		But								
					3 8						
	Grand Total Full Marks : 400	Total C	redit	Total C	Total Credit Point		SGPA 6.80				
272		16		108.8 SGPA 6					1.00		
区外40000	N 8 N 8	Course(s)/Paper	(s) not cl	eared ma	rked as	'E'	30	5 gs		30,0	

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000043



**INSTITUTION CODE: 888** 

### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: SOURAV KARMAKAR

ROLL NO.: 2028883010043 REGN.NO.: 2088830120054 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi
CORE COURSE: CHEM101	Theory	50	43	62	52	A+	8.39	2.48	20.8
ORGANIC CHEMISTRY-I	Internal	12	09						
CORE COURSE: CHEM102	Theory	50	40	62	47	A+	7.58	2.48	18.8
ORGANIC CHEMISTRY-II	Internal	12	07						
CORE COURSE: CHEM103	Theory	50	37	63	5 5	A+	7.62	2.52	7 80
INORGANIC CHEMISTRY	Internal	13	11		48				19.2
CORE COURSE: CHEM104	Theory	50	37	63	47	A+	7.46	2.52	5 × 4
PHYSICAL CHEMISTRY	Internal	13	10						18.8
CORE COURSE: CHEM105	Theory	150	108	100	378			8	
ORGANIC CHEMISTRY PRACTICAL PAPER-I	Internal			150	108	A+	7.20	6.00	43.2
A SANCTON OF THE SANC	S HALL BEEF			3 8		\$ 35°	40		\$0° 5°
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	90 V	CCDA	4 8 7 40		
302	3 3 16°	\$ 3	120.8			SGPA	7.55		

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021

SL.No.: 2121000049



**INSTITUTION CODE: 888** 

#### **GRADE CARD**

## FIRST SEMESTER EXAMINATION, 2020 MASTER OF SCIENCE IN CHEMISTRY

The following is the statement of marks and grades obtained by

NAME: SREEPARNA MITRA

ROLL NO.: 2028883010049 REGN.NO.: 2088830120055 SESSION: 2020-2021

for the First Semester Examination in CHEMISTRY, held in May, 2021

	Theory Internal Theory	50	36	62		5 S	2 2	20	7 5
	3	12	00	62		A+	7.10	2.48	17.6
	Theory		08	62	44				
		50	41	62	48	A+	7.74	2.48	58.5
	Internal	12	07						19.2
NORGANIC CHEMISTRY		50	35	63	44	A	6.98	2.52	7 40
		13	09						17.6
CORE COURSE: CHEM104 PHYSICAL CHEMISTRY		50	33	63	42	A	6.67	2.52	5 × 4
		13	09						16.8
CORE COURSE: CHEM105  ORGANIC CHEMISTRY PRACTICAL PAPER-I		150	104	150	104	27	6.03	6.00	41.6
AL FAFER-I	Internal			150	8104	\$ 6	0.93	0.00	\$41.0
Grand Total	Total C	redit	Total	redit Poin					
Full Marks : 400	Total of	reuit	Total	redit Folli	80 V	SGPA	7.05		
282	16		T ROY S	112.8					
	Grand Total Full Marks : 400	Grand Total Full Marks: 400  Total Co	Internal 13  Theory 150  Internal  Grand Total Full Marks : 400  Total Credit	Internal 13 09  Theory 150 104  Internal Total Credit Total C	Internal 13 09 63  Theory 150 104 Internal 150  Grand Total Full Marks : 400  Total Credit Total Credit Poin	Internal   13   09   63   42	Internal   13   09   63   42   A	Internal   13   09   63   42   A   6.67	Internal   13   09   63   42   A   6.67   2.52

Course(s)/Paper(s) not cleared marked as 'F'

Date of Publication of Result: 28TH MAY, 2021